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2022A2      HOOKE’S LAW, SIMPLE HARMONIC MOTION 

ANSWERS 

Level 1:  

𝑘 = 400,000 𝑁
𝑚⁄  

𝑥 = 0.3 𝑚 

Hooke’s Law: 𝐹 = −𝑘 ∗ 𝑥 

𝐹 =  − (400,000 
𝑁

𝑚
) ∗ 0.3 𝑚 

𝐹 = −120,000 𝑁 

The force of the spring is 120,000 Newtons in the negative direction. 

If you increase the spring constant, the force will increase, and it will stay in the negative direction. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
Two springs can be seen coming off this crane found in OE's laydown yard! 
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Level 2:  

𝑘 = 100,000 
𝑁

𝑚
 

𝑥 = 0.005 𝑚 

𝑚 = 20 𝑘𝑔 

Hooke’s Law: 𝐹 = −𝑘 ∗ 𝑥 

𝐹 = −100,000 
𝑁

𝑚
 ∗ 0.005 𝑚 

𝐹 = −500 𝑁 

 

The spring has a force of 500 Newtons on the block. 

 

𝐹 = 𝑚 ∗ 𝑎 

−500 𝑁 = 20 𝑘𝑔 ∗ 𝑎 

−500 
𝑘𝑔 ∗ 𝑚

𝑠2
= 20 𝑘𝑔 ∗ 𝑎 

𝑎 =
−500 

𝑘𝑔 ∗ 𝑚
𝑠2

20 𝑘𝑔
 

𝑎 = −25 
𝑚

𝑠2
 

 

The block will accelerate at 25 
𝑚

𝑠2 away from the wall.  


